
■ つぎの（     ）にあてはまる長さをそれぞれ答えましょう。

① ②

(式) (式)

③ ④

(式) (式)

89cm

(     ) 8188 cm²

39km

(     ) 1521 km²

63m

(     )

4914 m²

64mm

(     ) 3456 mm²
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■ つぎの（     ）にあてはまる長さをそれぞれ答えましょう。

① ②

(式) (式)

9 2 3 9

8 9 8 1 8 8 3 9 1 5 2 1

8 0 1 1 1 7

1 7 8 3 5 1

1 7 8 3 5 1

0 0

③ ④

(式) (式)

7 8 5 4

6 3 4 9 1 4 6 4 3 4 5 6

4 4 1 3 2 0

5 0 4 2 5 6

5 0 4 2 5 6

0 0

78 m 54 mm

8188 ÷ 89 = 92 1521 ÷ 39 = 39

4914 ÷ 63 = 78 3456 ÷ 64 = 54

92 cm 39 km

89cm

(     ) 8188 cm²

39km

(     ) 1521 km²

63m

(     )

4914 m²

64mm
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